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Answer any five questions
All questions carry equal marks

1; Solve the following problem by Slmplex method
) Mammlze Z= 3x1 5 2x2
/subject to the constraints .-
2x; + 2% < 40
X1 + X2 < 24
2x; +3x2 < 60
and X, X2= 0. [15]

the total Cost; Obtaining the -~

A___frmtlal bsi'§|c feaslble solutlen by usmg VAM methed ‘Fmd the optlmum solutton [lb}t__ '

F1 | F2 | F3 | F4 T Available |
Wl 7 9 3 2 16
W2 4 4 3 5 14
W3 6 4 5 8 20
Requlrement 11 9 22 8
;‘i f 3. ‘_Fmd the sequence that mirimizes, the total elapsed nme (ln hours) requ;red to complete —
o “the following jobs on two ‘machines M and M in the ordér M M. s
Job 1 2 3 4 5 6
M (Time in hours) 3 12 5 2 9 11
M (Time in hours) 8 10 9 6 3 1
» Also ﬁnd the totzﬁ eiapsed time and 1dle times of each machme A} [1 5} _
4. A Machine owner finds from his past records that the maintenance costs per year of a
machine whose purchase price is Rs. 8000 are as given below:
Year: I 2 3 4 5 6 7 8

A

Matntenance cosv' ) 1000 1300 | 1700 2200/] 2900 |-3800 4800 | 6000

/

Resale Price: 4000 2000 | 1200 [ 600 | 500 |[400 400 | 400

Determine at which time it is profitable to replace the machine. [15]




3 Solve the game whose payoff matrix is given below. [15]
B, A Player B A (R R A

: 3
Player A | A2 | 3

A3 | 4
Ad | 0

SIHINH 8

0
4
0
8

The demand for a particular item is.] 8,000 units per.year. The holding costper unit iss ..
Rs:1.20 per year and the cost of one procurement is Rs.400, No shortages are allowed, | -

7

/and the réplacement rate i$ instantaneous: Determine: * "

a) Optimum order quantity

b) Number of orders per year

¢) Time between orders and

d) Total cost per year when the cost of one unit is Rs.1 [15]

A""’deﬁar‘t:ﬁiental store ‘has single cash:er During the. rush Hours, cy':gtpni'érs;_‘_arrive at'a

/rate.of 20 customers per hour. The average number of custemers that can be processed: ..
by the cashier is 24 per hour. Assume that the conditions for use of the single-channel
queuing model apply.

a) What is the probability that the cashier is idle?
b) What is the average number of customers in the queuing system?
¢) What is the average time a customer spends in the system?

""" ciistomers in the guee? A (18] /7

d)What is the average number of

AT S | B >

'Solve the following L.P.P by dynamic programming:
Maximize Z = 8x; + 7xz
Subject to the constraints 2x; + X3 = 8
5% 2x2 <15
and x1, x2 >0
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